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1" (10 points total) Circle "T" ifthe statement is true and "F" if false' You need

not show your work. No partial credit will be given'

a. (2 poi nts) lf A and B are matrices such that C : AB exists and C-1

exists, then A and B are both invertible. 'il
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(2 points) lf AB : 0 then it is alwaYs true that either -4
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0 is the zero matrix.

F

(2 points) lf A is an n x n matrix such that Az = A'and A is notthe

identity matrix I,., then ker(/r, - A) = im(A)'
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d. (2- points)There is a sq uare rnatrix whose inrage equals its kei"nel
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Z. (10 points total) The following problem has parts a) and b):

a. (5 points) Find the reduced row-echelon form of

(0

+ ttTn )
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b. (5 points) Solve the equat ion Ai - B f ot.i wherr
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3. (10 points total) Let 7 : sparL(v1,11s,'t23,o4,u5), where
aJ
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a. (2 points) Are the vectors whose span defines 7 linearly independent

or linearly dependent? Explain yvhy or why not'
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4. (10 points total)The following problem has parts a) and b): \/.

a. (6 points) Find the 3 x 3 matrix which represents orthogonal

projection onto the line spanned by, = (})
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b. (4 points) Find the matrix which represents reflection across the

plane in R3 defined by the equation x * 3y * 4z=A.
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